Forces at angles
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Frictional Force
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s Example:
A 20.0-kg box rests on a table and requires a minimum of 20N to oy, tatic friction.

a) What is the coefficient of friction acting on this box?
—_—

—_—

__7 n»ld"j VU+T‘°~\ (0\-’—0‘ Harl }c[\‘k\ @\‘_b)

l > me fa
T1 Fuet = mgd” Fuee = "‘e“( /M m9y
7% Fu-Fyz 0 Fa- )
Fs §A Fu=Fy F- FA 2oCay)
VF, F"’{'_,Wj /MFu . M= 0.lo
_ ———
b) You apply a force of 15N at an angle of 45° abo@ﬁh%zoﬁta%es the box move?
\{“ IF?‘;Z v \,;H,,/F . \]g-\'i ca\ (A“h Heart 2anten
" P -
{Hf | : F"I; b FN *FAJ’Fﬁ"’% f,.u,(v'. m A
Fk‘:lfc:’;‘]r _T,'L_"_?/\_A‘ o IT"A,‘_F(;-_ m
] EJ"’:S‘FA; ISashis- mhuzma
17 1\ (] M- /84S
F 15 ¢ 45- 0.162) (135) =20
FF(/]—v Ax =(2e)(4.q) -/5Sinlls _-..(., ( ) ;;0\ k\\ S \
- \\‘AN
% Fuz 135K Gttis = i
A 45kg box is on an incline plane of 30 degrees. The incline plane is frictionless. Find the acceleration 2 &o("" s (’\“_L
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What would the acceleration be if the coefficient of friction on the incline was 0.43?
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A man accelerates a 40kg lawn mower at a rate of 1.5m/s? in the horizontal. The coefficient of friction between the grass

and the mower is 0.432. What force is the man applying to the mower if the handle makes an angle of 33 degrees to the —+
horizontal.
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